

A CLASS OF HARMONIC STARLIKE FUNCTIONS DEFINED BY MULTIPLIER TRANSFORMATION

DEEPALI KHURANA, RAJ KUMAR¹, AND SIBEL YALÇIN

ABSTRACT. We define two new subclasses, $HS(k, \lambda, b, \alpha)$ and $\overline{HS}(k, \lambda, b, \alpha)$, of univalent harmonic mappings using multiplier transformation. We obtain a sufficient condition for harmonic univalent functions to be in $HS(k, \lambda, b, \alpha)$ and we prove that this condition is also necessary for the functions in the class $\overline{HS}(k, \lambda, b, \alpha)$. We also obtain extreme points, distortion bounds, convex combination, radius of convexity and Bernardi-Libera-Livingston integral for the functions in the class $\overline{HS}(k, \lambda, b, \alpha)$.

1. INTRODUCTION

A continuous function $f = u + iv$ is a complex valued harmonic function in $\mathbb{C}$ if both u and v are real valued harmonic in $\mathbb{C}$. In any simply connected domain $\mathcal{D}$, a complex valued harmonic function $f = u + iv$ can be written as $f = h + \bar{g}$, where h and g are analytic in $\mathcal{D}$. We call h the analytic part and g the co-analytic part of f . We denote by $\mathcal{H}$ the class of complex valued harmonic mappings $f = h + \bar{g}$ defined in the open unit disk $\mathbb{D} = \{z \in \mathbb{C} : |z| < 1\}$ and normalized by $h(0) = g(0) = h'(0) - 1 = 0$. Such mappings have the following power series representation

$$(1.1) \quad f(z) = z + \sum_{n=2}^{\infty} a_n z^n + \overline{\sum_{n=1}^{\infty} b_n z^n}.$$

¹corresponding author

2010 *Mathematics Subject Classification.* Primary 30C45; Secondary 30C50.

Key words and phrases. Harmonic mapping, univalent, convolution.

A necessary and sufficient condition for $f \in \mathcal{H}$ to be locally univalent and sense-preserving in $\mathbb{D}$ is that $|h'(z)| > |g'(z)|$ for all $z \in \mathbb{D}$ (see[4]). Let S_H denote the subclass of $\mathcal{H}$ consisting of all sense-preserving univalent harmonic mappings f and S_H^0 is the subclass of S_H whose members satisfy additional condition $f_{\bar{z}}(0) = 0$, i.e. $g'(0) = 0$. Denote by K_H^0 , S_H^{*0} and C_H^0 the subclasses of S_H^0 whose functions map $\mathbb{D}$ onto convex, starlike and close-to-convex domains, respectively. Further $\bar{S}_H$ denote the subclass of S_H consisting of functions of the type $f_k = h + \bar{g}_k$, where

$$(1.2) \quad h(z) = z - \sum_{n=2}^{\infty} |a_n| z^n \quad \text{and} \quad g_k(z) = (-1)^k \sum_{n=1}^{\infty} |b_n| z^n.$$

In 1984 Clunie and Sheil-Small in their landmark paper [2], investigated some geometric properties of the class S_H and its subclasses. Since then researchers defined many subclasses of the class S_H and studied their various properties e.g. see [5, 6, 8, 11 and 14] and references therein. In particular, Nasr and Aouf [7] introduced the subclass $S^*(b)$ consisting of functions which are analytic and starlike of complex order b , ($b \in \mathbb{C}/\{0\}$) and satisfying

$$\operatorname{Re} \left[1 + \frac{1}{b} \left(\frac{zf'(z)}{f(z)} - 1 \right) \right] \geq 0, \quad z \in \mathbb{D}.$$

Halim and Janteng [3] defined the subclass $HS^*(b, \alpha)$, $b \neq 0$ with $|b| \leq 1$, of the class S_H consisting of the functions of the form $f = h + \bar{g}$, where h and g are given by (1.1) and satisfy

$$\operatorname{Re} \left[1 + \frac{1}{b} \left(\frac{zf'(z)}{z'f(z)} - 1 \right) \right] \geq \alpha, \quad 0 \leq \alpha < 1$$

where $z' = \frac{\partial}{\partial \theta}(z = re^{i\theta})$ and $f'(z) = \frac{\partial}{\partial \theta}(f(z) = f(re^{i\theta}))$. Further, Yaşar and Yalçın [14] studied the subclass $\bar{S}_H(m, b)$, $b \in \mathbb{C}/\{0\}$, of $\bar{S}_H$ consisting of functions $f_m = h + \bar{g}_m$ that satisfy the following condition:

$$\operatorname{Re} \left[1 + \frac{1}{b} \left(\frac{D^{m+1}f_m(z)}{D^m f_m(z)} - 1 \right) \right] > 0.$$

Where D^m is the modified Salagean differential operator defined for the functions $f = h + \bar{g}$ as

$$D^m f(z) = D^m h(z) + (-1)^m \overline{D^m g(z)}.$$

One can refer to [11] and [5] for more details about Salagean and modified Salagean operators, respectively. Motivated by above papers, we define a new

subclass $HS(k, \lambda, b, \alpha)$, ($k \in \mathbb{N} \cup \{0\}$, $0 \leq \lambda \leq 1$, $b \neq 0$ with $|b| \leq 1$) of S_H consisting of harmonic functions $f = h + \bar{g}$ of the form (1.1) and satisfying

$$(1.3) \quad \operatorname{Re} \left[1 + \frac{1}{b} \left(\frac{I(k+1, \lambda)f(z)}{I(k, \lambda)f(z)} - 1 \right) \right] \geq \alpha, \quad 0 \leq \alpha < 1.$$

Here $I(k, \lambda)$ is the modified multiplier transformation defined as

$$I(k, \lambda)f(z) = I(k, \lambda)h(z) + (-1)^k \overline{I(k, \lambda)g(z)},$$

where

$$I(k, \lambda)h(z) = z + \sum_{n=2}^{\infty} \left(\frac{n+\lambda}{1+\lambda} \right)^k a_n z^n \quad \text{and} \quad I(k, \lambda)g(z) = \sum_{n=1}^{\infty} \left(\frac{n+\lambda}{1+\lambda} \right)^k b_n z^n.$$

The multiplier transformation $I(k, \gamma)$ for analytic functions f was introduced by Cho and Kim [1]. We denote by $\overline{HS}(k, \lambda, b, \alpha)$, the class of functions of the type $f_k = h + \bar{g}_k$, which satisfy the condition (1.3). For particular, values of k, λ, b and α we obtain the corresponding results for several known subclasses as special cases. For example, for $\gamma \in [0, 1)$ and

- (i) if $k = 0, \lambda = 0, b = 1 - \gamma$ and $\alpha = 0$, then $\overline{HS}(k, \lambda, b, \alpha) = T_H^*$, [10];
- (ii) if $k = 1, \lambda = 0, b = 1 - \gamma$ and $\alpha = 0$, then $\overline{HS}(k, \lambda, b, \alpha) = TK_H$, [10];
- (iii) if $k, \lambda, b = \frac{1}{2} - \frac{i}{2} \tan \frac{\gamma}{2}$ and α , then $\overline{HS}(k, \lambda, b, \alpha) = \overline{RS}_H(k, \lambda, \alpha)$, [6].

If the co-analytic part of f is identically zero i.e. $g \equiv 0$ and

- (iv) if $k = 0, \lambda = 0, b = 1 - \gamma$ and $\alpha = 0$, then $HS(k, \lambda, b, \alpha) = T^*(\gamma)$, [9];
- (v) if $k = 1, \lambda = 0, b = 1 - \gamma$ and $\alpha = 0$, then $HS(k, \lambda, b, \alpha) = C(\gamma)$, [9];
- (vi) if $k = 0, \lambda = 0, b$ and $\alpha = 0$, then $HS(k, \lambda, b, \alpha) = T_n^*(b)$, [12];
- (vii) if $k = m, \lambda = 0, b$ and $\alpha = 0$, then $HS(k, \lambda, b, \alpha) = T_{n,m}^*(b)$, [13].

In Section 2, we first obtain a sufficient condition for harmonic univalent functions $f = h + \bar{g}$ given by (1.1) to be in $HS(k, \lambda, b, \alpha)$ and then we prove that this condition is also necessary for the functions in the class $\overline{HS}(k, \lambda, b, \alpha)$. We also obtain extreme points, distortion bounds, convex combination, radius of convexity and Bernandi-Libera-Livingston integral for the functions in the class $\overline{HS}(k, \lambda, b, \alpha)$.

2. MAIN RESULTS

Theorem 2.1. *Let a function $f = h + \bar{g} \in S_H$ given by (1.1) and satisfies*

$$(2.1) \quad \sum_{n=1}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k \left\{ \left(\frac{(n+\lambda)-(1+\lambda)(1-|b|+\alpha|b|)}{(1+\lambda)|b|}\right) |a_n| + \left(\frac{(n+\lambda)+(1+\lambda)(1-|b|+\alpha|b|)}{(1+\lambda)|b|}\right) |b_n| \right\} \leq 2(1-\alpha),$$

where $0 \leq \alpha < 1$, $0 \leq \lambda \leq 1$, $k \in \mathbb{N} \cup \{0\}$, $b \neq 0$ with $|b| \leq 1$, then $f \in HS(k, \lambda, b, \alpha)$.

Proof. First we shall prove that f is sense-preserving and univalent in $\mathbb{D}$. Since $|z| < 1$, therefore

$$\begin{aligned} |h'(z)| &\geq 1 - \sum_{n=2}^{\infty} n|a_n||z|^{n-1} > 1 - \sum_{n=2}^{\infty} n|a_n| \\ &\geq 1 - \sum_{n=2}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k \left(\frac{(n+\lambda)-(1+\lambda)(1-|b|+\alpha|b|)}{(1+\lambda)|b|(1-\alpha)}\right) |a_n| \\ &\geq \sum_{n=1}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k \left(\frac{(n+\lambda)+(1+\lambda)(1-|b|+\alpha|b|)}{(1+\lambda)|b|(1-\alpha)}\right) |b_n|; \text{ using (2.1)} \\ &> \sum_{n=1}^{\infty} n|b_n||z|^{n-1} \geq |g'(z)|. \end{aligned}$$

This shows that f is sense-preserving in $\mathbb{D}$. Next we prove the univalence of f in $\mathbb{D}$. For $z_1 \neq z_2 \in \mathbb{D}$,

$$\begin{aligned} \left| \frac{f(z_1) - f(z_2)}{h(z_1) - h(z_2)} \right| &\geq 1 - \left| \frac{g(z_1) - g(z_2)}{h(z_1) - h(z_2)} \right| > 1 - \frac{\sum_{n=1}^{\infty} n|b_n|}{1 - \sum_{n=2}^{\infty} n|a_n|} \\ &\geq 1 - \frac{\sum_{n=1}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k \left(\frac{(n+\lambda)+(1+\lambda)(1-|b|+\alpha|b|)}{(1+\lambda)|b|(1-\alpha)}\right) |b_n|}{1 - \sum_{n=2}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k \left(\frac{(n+\lambda)-(1+\lambda)(1-|b|+\alpha|b|)}{(1+\lambda)|b|(1-\alpha)}\right) |a_n|} \geq 0. \end{aligned}$$

Hence in view of condition (2.1), f is univalent in $\mathbb{D}$. In order to prove that $f \in HS(k, \lambda, b, \alpha)$ we shall show that for $0 \leq \alpha < 1$ and $|b| \leq 1$,

$Re \left(1 + \frac{1}{b} \left(\frac{I(k+1, \lambda)f(z)}{I(k, \lambda)f(z)} - 1 \right) \right) \geq \alpha$. We know that $Re(w) \geq \alpha$ if and only if $|1 - \alpha + w| \geq |1 + \alpha - w|$. So, it suffices to show that

$$\begin{aligned} &|(1-\alpha)bI(k, \lambda)f(z) + bI(k, \lambda)f(z) + I(k+1, \lambda)f(z) - I(k, \lambda)f(z)| - \\ &|(1+\alpha)bI(k, \lambda)f(z) - (bI(k, \lambda)f(z) + I(k+1, \lambda)f(z) - I(k, \lambda)f(z))| \geq 0. \end{aligned}$$

Now,

$$\begin{aligned}
& |(1-\alpha)bI(k, \lambda)f(z) + bI(k, \lambda)f(z) + I(k+1, \lambda)f(z) - I(k, \lambda)f(z)| - \\
& \quad |(1+\alpha)bI(k, \lambda)f(z) - (bI(k, \lambda)f(z) + I(k+1, \lambda)f(z) - I(k, \lambda)f(z))| \\
&= |(b(2-\alpha)-1)I(k, \lambda)f(z) + I(k+1, \lambda)f(z)| - \\
& \quad |(b\alpha+1)I(k, \lambda)f(z) - I(k+1, \lambda)f(z)| \\
&= \left| (2-\alpha)bz + \sum_{n=2}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k (2b-b\alpha-1+\frac{n+\lambda}{1+\lambda}) a_n z^n + \right. \\
& \quad \left. \sum_{n=1}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k (2b-b\alpha-1-\frac{n+\lambda}{1+\lambda}) \overline{b_n} \overline{z}^n \right| - \\
& \quad \left| b\alpha z + \sum_{n=2}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k (b\alpha+1-\frac{n+\lambda}{1+\lambda}) a_n z^n + \right. \\
& \quad \left. \sum_{n=1}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k (b\alpha+1+\frac{n+\lambda}{1+\lambda}) \overline{b_n} \overline{z}^n \right| \\
&\geq (2-\alpha)|b||z| - \sum_{n=2}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k ((2-\alpha)|b|-1+\frac{n+\lambda}{1+\lambda}) |a_n||z|^n + \\
& \quad \sum_{n=1}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k ((2-\alpha)|b|-1-\frac{n+\lambda}{1+\lambda}) |b_n||z|^n - \\
& \quad |b|\alpha z + \sum_{n=2}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k (|b|\alpha+1-\frac{n+\lambda}{1+\lambda}) |a_n||z|^n - \\
& \quad \sum_{n=1}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k (|b|\alpha+1+\frac{n+\lambda}{1+\lambda}) |b_n||z|^n \\
&= 2(1-\alpha)|b||z| - 2 \sum_{n=2}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k ((1-\alpha)|b|-1+\frac{n+\lambda}{1+\lambda}) |a_n||z|^n - \\
& \quad 2 \sum_{n=1}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k ((\alpha-1)|b|+1+\frac{n+\lambda}{1+\lambda}) |b_n||z|^n \\
&\geq 2(1-\alpha)|b||z| \left(1 - \sum_{n=2}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k |a_n||z|^{n-1} \left(\frac{(n+\lambda)-(1+\lambda)(1-|b|+|b|\alpha)}{(1+\lambda)(1-\alpha)|b|} \right) - \right. \\
& \quad \left. \sum_{n=1}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k |b_n||z|^{n-1} \left(\frac{(n+\lambda)+(1+\lambda)(1-|b|+|b|\alpha)}{(1+\lambda)(1-\alpha)|b|} \right) \right) \\
&\geq 0, \quad \text{in view of (2.1).}
\end{aligned}$$

This completes the proof. $\square$

Theorem 2.2. Let $f_k = h + \overline{g_k}$ be given by (1.2). Then $f_k \in \overline{HS}(k, \lambda, b, \alpha)$ if and only if f_k satisfy condition (2.1).

Proof. Since $\overline{HS}^*(k, \lambda, b, \alpha) \subset HS(k, \lambda, b, \alpha)$ therefore, ‘if’ part of the Theorem 2.2 can be proved from Theorem 2.1, thus we prove ‘only if’ part of Theorem 2.2. Let $f_k = h + \overline{g_k} \in \overline{HS}(k, \lambda, b, \alpha)$, then

$$Re \left[1 + \frac{1}{b} \left(\frac{I(k+1, \lambda)f_k(z)}{I(k, \lambda)f_k(z)} - 1 \right) - \alpha \right] \geq 0, \quad 0 \leq \alpha < 1, |b| \leq 1.$$

After substituting $I(k+1, \lambda)f_k(z)$ and $I(k, \lambda)f_k(z)$ in the above inequality we get,

$$\begin{aligned}
 & \operatorname{Re} \left[\frac{b(1-z) - \sum_{n=2}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k |a_n| z^n \left[\frac{n+\lambda}{1+\lambda} + b - 1 - \alpha b\right]}{bI(k, \lambda)f(z)} - \right. \\
 & \quad \left. (-1)^{2k} \frac{\sum_{n=1}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k |b_n| \bar{z}^n \left[\frac{n+\lambda}{1+\lambda} - b + 1 + \alpha b\right]}{bI(k, \lambda)f(z)} \right] \geq 0, \\
 & \operatorname{Re} \left[\frac{(1-\alpha)z - \sum_{n=2}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k |a_n| z^n \left[\frac{n+\lambda}{b(1+\lambda)} + 1 - \frac{1}{b} - \alpha\right]}{z - \sum_{n=2}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k |a_n| z^n + (-1)^{2k} \sum_{n=1}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k |b_n| \bar{z}^n} - \right. \\
 & \quad \left. (-1)^{2k} \frac{\sum_{n=1}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k |b_n| \bar{z}^n \left[\frac{n+\lambda}{b(1+\lambda)} - 1 + \frac{1}{b} + \alpha\right]}{z - \sum_{n=2}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k |a_n| z^n + (-1)^{2k} \sum_{n=1}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k |b_n| \bar{z}^n} \right] \geq 0, \\
 & \operatorname{Re} \left[\frac{(1-\alpha) - \sum_{n=2}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k |a_n| z^{n-1} \left[\frac{n+\lambda}{b(1+\lambda)} + 1 - \frac{1}{b} - \alpha\right]}{1 - \sum_{n=2}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k |a_n| z^{n-1} + (-1)^{2k} \frac{\bar{z}}{z} \sum_{n=1}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k |b_n| \bar{z}^{n-1}} - \right. \\
 & \quad \left. (-1)^{2k} \frac{\frac{\bar{z}}{z} \sum_{n=1}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k |b_n| \bar{z}^{n-1} \left[\frac{n+\lambda}{b(1+\lambda)} - 1 + \frac{1}{b} + \alpha\right]}{1 - \sum_{n=2}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k |a_n| z^{n-1} + (-1)^{2k} \frac{\bar{z}}{z} \sum_{n=1}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k |b_n| \bar{z}^{n-1}} \right] \geq 0.
 \end{aligned}$$

The above condition holds for all values of z , $|z| = r < 1$. Choosing the values of z on positive real axis, where $0 \leq z = r < 1$, we have

$$\operatorname{Re} \left[\frac{(1-\alpha) - \sum_{n=2}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k |a_n| r^{n-1} \left[\frac{n+\lambda}{b(1+\lambda)} + 1 - \frac{1}{b} - \alpha\right] - \sum_{n=1}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k |b_n| r^{n-1} \left[\frac{n+\lambda}{b(1+\lambda)} - 1 + \frac{1}{b} + \alpha\right]}{1 - \sum_{n=2}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k |a_n| r^{n-1} + \sum_{n=1}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k |b_n| r^{n-1}} \right] \geq 0.$$

Since $\operatorname{Re}(b) \leq |b|$, the above inequality reduces to

$$\begin{aligned}
 & \left[\frac{(1-\alpha) - \sum_{n=2}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k |a_n| r^{n-1} \left[\frac{n+\lambda}{|b|(1+\lambda)} + 1 - \frac{1}{|b|} - \alpha\right]}{1 - \sum_{n=2}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k |a_n| r^{n-1} + \sum_{n=1}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k |b_n| r^{n-1}} - \right. \\
 & \quad \left. \frac{\sum_{n=1}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k |b_n| r^{n-1} \left[\frac{n+\lambda}{|b|(1+\lambda)} - 1 + \frac{1}{|b|} + \alpha\right]}{1 - \sum_{n=2}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k |a_n| r^{n-1} + \sum_{n=1}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k |b_n| r^{n-1}} \right] \geq 0.
 \end{aligned}
 \tag{2.2}$$

In case the condition (2.1) doesn't hold then, the numerator of left hand side of (2.2) becomes negative for r sufficiently close to 1. This leads to contradiction. Hence it proves the result. $\square$

Theorem 2.3. *Members of the class $\overline{HS}(k, \lambda, b, \alpha)$ map unit disk onto a starlike domain.*

Proof. A function $f = h + \bar{g} = z - \sum_{n=2}^{\infty} |a_n| z^n + \sum_{n=1}^{\infty} |b_n| \bar{z}^n \in \overline{HS}(k, \lambda, b, \alpha)$ maps the unit disk $\mathbb{D}$ onto a starlike domain if and only if for $z \in \mathbb{D}$,

$$\operatorname{Re} \left\{ \frac{zh'(z) - \overline{zg'(z)}}{h(z) + \overline{g(z)}} \right\} > 0.
 \tag{2.3}$$

We know that $Re(w) > 0$ if and only if $|1 + w| > |1 - w|$. Therefore to prove (2.3), it suffices to show that $|h(z) + \overline{g(z)} + zh'(z) - \overline{zg'(z)}| - |h(z) + \overline{g(z)} - zh'(z) + \overline{zg'(z)}| > 0$. Since

$$\begin{aligned} & |h(z) + \overline{g(z)} + zh'(z) - \overline{zg'(z)}| - |h(z) + \overline{g(z)} - zh'(z) + \overline{zg'(z)}| \\ &= \left| z - \sum_{n=2}^{\infty} |a_n| z^n + \sum_{n=1}^{\infty} |b_n| \bar{z}^n + z(1 - \sum_{n=2}^{\infty} n|a_n| z^{n-1}) - \bar{z} \sum_{n=1}^{\infty} n|b_n| \bar{z}^{n-1} \right| - \\ & \quad \left| z - \sum_{n=2}^{\infty} |a_n| z^n + \sum_{n=1}^{\infty} |b_n| \bar{z}^n - z(1 - \sum_{n=2}^{\infty} n|a_n| z^{n-1}) + \bar{z} \sum_{n=1}^{\infty} n|b_n| \bar{z}^{n-1} \right| \\ &= \left| 2z - \sum_{n=2}^{\infty} (n+1)|a_n| z^n - \sum_{n=1}^{\infty} (n-1)|b_n| \bar{z}^n \right| - \\ & \quad \left| \sum_{n=2}^{\infty} (n-1)|a_n| z^n + \sum_{n=1}^{\infty} (n+1)|b_n| \bar{z}^n \right| \\ &\geq 2|z| \left[1 - \sum_{n=2}^{\infty} n|a_n| |z|^{n-1} - \sum_{n=1}^{\infty} n|b_n| |z|^{n-1} \right] \\ &> 2|z| \left[1 - \sum_{n=2}^{\infty} n|a_n| - \sum_{n=1}^{\infty} n|b_n| \right] \\ &\geq 2|z| \left[1 - \sum_{n=2}^{\infty} \left(\frac{n+\lambda}{1+\lambda} \right)^k \frac{(n+\lambda)-(1+\lambda)(1-|b|+\alpha|b|)}{(1-\alpha)(1+\lambda)|b|} |a_n| - \right. \\ & \quad \left. \sum_{n=1}^{\infty} \left(\frac{n+\lambda}{1+\lambda} \right)^k \frac{(n+\lambda)+(1+\lambda)(1-|b|+\alpha|b|)}{(1-\alpha)(1+\lambda)|b|} |b_n| \right] > 0, \end{aligned}$$

in view of condition (2.1). Hence it completes the proof. $\square$

Extreme Points

In the next result we obtain the extreme points for the class $\overline{HS}(k, \lambda, b, \alpha)$.

Theorem 2.4. *If $f_k = h + \overline{g_k}$, then $f_k \in \overline{HS}(k, \lambda, b, \alpha)$ if and only if $f_k(z) = \sum_{n=1}^{\infty} (X_n h_n(z) + Y_n g_{k_n}(z))$, where*

$$h_1(z) = z,$$

$$h_n(z) = z - \frac{(1-\alpha)(1+\lambda)^{k+1}|b|}{[(n+\lambda)-(1+\lambda)(1-|b|+\alpha|b|)](n+\lambda)^k} z^n, \quad n = 2, 3, 4, \dots,$$

$$g_{k_n}(z) = z + (-1)^k \frac{(1-\alpha)(1+\lambda)^{k+1}|b|}{[(n+\lambda)+(1+\lambda)(1-|b|+\alpha|b|)](n+\lambda)^k} \bar{z}^n, \quad n = 1, 2, 3, \dots,$$

and $\sum_{n=1}^{\infty} (X_n + Y_n) = 1$, $X_n \geq 0$, $Y_n \geq 0$. In particular, the extreme points of $\overline{HS}(k, \lambda, b, \alpha)$ are $\{h_n\}$ and $\{g_{k_n}\}$.

Proof. Substituting the values of $h_n(z)$ and $g_{k_n}(z)$ in $f_k(z)$, we have

$$\begin{aligned} f_k(z) &= \sum_{n=1}^{\infty} (X_n h_n(z) + Y_n g_{k_n}(z)) \\ &= z - \sum_{n=2}^{\infty} \frac{(1-\alpha)(1+\lambda)^{k+1}|b|}{[(n+\lambda)-(1+\lambda)(1-|b|+\alpha|b|)](n+\lambda)^k} X_n z^n + \\ &\quad (-1)^k \sum_{n=1}^{\infty} \frac{(1-\alpha)(1+\lambda)^{k+1}|b|}{[(n+\lambda)+(1+\lambda)(1-|b|+\alpha|b|)](n+\lambda)^k} Y_n \bar{z}^n. \end{aligned}$$

Comparing (2.4) with $f_k(z) = h(z) + g_k(z) = z - \sum_{n=2}^{\infty} |a_n| z^n + (-1)^k \sum_{n=1}^{\infty} |b_n| \bar{z}^n$, we obtain

$$|a_n| = \frac{(1-\alpha)(1+\lambda)^{k+1}|b|}{[(n+\lambda)-(1+\lambda)(1-|b|+\alpha|b|)](n+\lambda)^k} X_n$$

and

$$|b_n| = (-1)^k \frac{(1-\alpha)(1+\lambda)^{k+1}|b|}{[(n+\lambda)+(1+\lambda)(1-|b|+\alpha|b|)](n+\lambda)^k} Y_n.$$

Now,

$$\begin{aligned} &\sum_{n=2}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k \left[\frac{(n+\lambda)-(1+\lambda)(1-|b|+\alpha|b|)}{(1-\alpha)(1+\lambda)|b|} \right] |a_n| + \\ &\quad \sum_{n=1}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k \left[\frac{(n+\lambda)+(1+\lambda)(1-|b|+\alpha|b|)}{(1-\alpha)(1+\lambda)|b|} \right] |b_n| \\ &= \sum_{n=2}^{\infty} X_n + \sum_{n=1}^{\infty} Y_n = 1 - X_1 \leq 1. \end{aligned}$$

Therefore, $f_k \in \overline{HS}(k, \lambda, b, \alpha)$. Conversely, let $f_k \in \overline{HS}(k, \lambda, b, \alpha)$. Set

$$X_n = \left(\frac{n+\lambda}{1+\lambda}\right)^k \left[\frac{(n+\lambda)-(1+\lambda)(1-|b|+\alpha|b|)}{(1-\alpha)(1+\lambda)|b|} \right] |a_n|, \quad n = 2, 3, 4, \dots$$

and

$$Y_n = \left(\frac{n+\lambda}{1+\lambda}\right)^k \left[\frac{(n+\lambda)+(1+\lambda)(1-|b|+\alpha|b|)}{(1-\alpha)(1+\lambda)|b|} \right] |b_n|, \quad n = 1, 2, 3, \dots$$

where $\sum_{n=1}^{\infty} (X_n + Y_n) = 1$. Since $f_k \in \overline{HS}(k, \lambda, b, \alpha)$, thus $f_k(z) = z - \sum_{n=2}^{\infty} |a_n| z^n +$

$(-1)^k \sum_{n=1}^{\infty} |b_n| \bar{z}^n$. by substituting values of $|a_n|$ and $|b_n|$, we get

$f_k(z) = \sum_{n=1}^{\infty} (X_n h_n(z) + Y_n g_{k_n}(z))$, where $h_n(z)$ and $g_{k_n}(z)$ are as mentioned above. Hence the proof is complete. $\square$

Convolution Properties

In this section, we show that the class $\overline{HS}(k, \lambda, b, \alpha)$ is closed under convolution. For harmonic functions

$$f_k(z) = z - \sum_{n=2}^{\infty} |a_n| z^n + (-1)^k \sum_{n=1}^{\infty} |b_n| \bar{z}^n$$

and

$$F_k(z) = z - \sum_{n=2}^{\infty} |A_n| z^n + (-1)^k \sum_{n=1}^{\infty} |B_n| \bar{z}^n,$$

their convolution, $f_k * F_k$ is given by

$$(f_k * F_k)(z) = f_k(z) * F_k(z) = z - \sum_{n=2}^{\infty} |a_n A_n| z^n + (-1)^k \sum_{n=1}^{\infty} |b_n B_n| \bar{z}^n.$$

Theorem 2.5. Let $f_k \in \overline{HS}(k, \lambda, b, \alpha_1)$ and $F_k \in \overline{HS}(k, \lambda, b, \alpha_2)$, where $0 \leq \alpha_1 \leq \alpha_2 < 1$. Then $f_k * F_k \in \overline{HS}(k, \lambda, b, \alpha_2) \subset \overline{HS}(k, \lambda, b, \alpha_1)$.

Proof. We wish to show that $(f_k * F_k)$ satisfies the coefficient condition (2.1). For $F_k \in \overline{HS}(k, \lambda, b, \alpha_2)$, we note that $|A_n| \leq 1$ and $|B_n| \leq 1$. Now, for the coefficients of convolution function $(f_k * F_k)$, we can write

$$\begin{aligned} & \sum_{n=1}^{\infty} \left(\frac{n+\lambda}{1+\lambda} \right)^k \left[\frac{(n+\lambda)-(1+\lambda)(1-|b|+\alpha|b|)}{(1-\alpha_2)(1+\lambda)|b|} \right] |a_n A_n| + \\ & \sum_{n=1}^{\infty} \left(\frac{n+\lambda}{1+\lambda} \right)^k \left[\frac{(n+\lambda)+(1+\lambda)(1-|b|+\alpha|b|)}{(1-\alpha_2)(1+\lambda)|b|} \right] |b_n B_n| \\ & \leq \sum_{n=1}^{\infty} \left(\frac{n+\lambda}{1+\lambda} \right)^k \left[\frac{(n+\lambda)-(1+\lambda)(1-|b|+\alpha|b|)}{(1-\alpha_2)(1+\lambda)|b|} |a_n| + \frac{(n+\lambda)+(1+\lambda)(1-|b|+\alpha|b|)}{(1-\alpha_2)(1+\lambda)|b|} |b_n| \right] \\ & \leq \sum_{n=1}^{\infty} \left(\frac{n+\lambda}{1+\lambda} \right)^k \left[\frac{(n+\lambda)-(1+\lambda)(1-|b|+\alpha|b|)}{(1-\alpha_1)(1+\lambda)|b|} |a_n| + \frac{(n+\lambda)+(1+\lambda)(1-|b|+\alpha|b|)}{(1-\alpha_1)(1+\lambda)|b|} |b_n| \right] \\ & \leq 2. \end{aligned}$$

Hence $(f_k * F_k) \in \overline{HS}(k, \lambda, b, \alpha_2) \subset \overline{HS}(k, \lambda, b, \alpha_1)$. □

In order to prove our next result, we use the following lemma of Clunie and Sheil-Small [2].

Lemma 2.1. If $F \in K_H^\circ$ is given by $F(z) = z + \sum_{n=2}^{\infty} (A_n z^n + \overline{B_n} \bar{z}^n)$, then $|A_n| \leq \frac{n+1}{2}$ and $|B_n| \leq \frac{n-1}{2}$.

Theorem 2.6. *If $f \in \overline{HS}^0(k, \lambda, b, \alpha)$ and $F \in K_H^\circ$, then $f * F \in \overline{HS}^0(k-1, \lambda, b, \alpha)$ for $0 \leq \lambda \leq 1$.*

Proof. Since $f \in \overline{HS}^0(k, \lambda, b, \alpha)$, therefore

$$\sum_{n=2}^{\infty} \left(\frac{n+\lambda}{1+\lambda} \right)^k \left[\frac{(n+\lambda)-(1+\lambda)(1-|b|+\alpha|b|)}{(1+\lambda)|b|} |a_n| + \frac{(n+\lambda)+(1+\lambda)(1-|b|+\alpha|b|)}{(1+\lambda)|b|} |b_n| \right] \leq (1-\alpha).$$

We know that $(f * F)(z) = z + \sum_{n=2}^{\infty} (a_n A_n z^n + \overline{b_n B_n} \bar{z}^n)$. Now,

$$\begin{aligned} & \sum_{n=2}^{\infty} \left(\frac{n+\lambda}{1+\lambda} \right)^{k-1} \left[\frac{(n+\lambda)-(1+\lambda)(1-|b|+\alpha|b|)}{(1+\lambda)|b|} |a_n A_n| + \frac{(n+\lambda)+(1+\lambda)(1-|b|+\alpha|b|)}{(1+\lambda)|b|} |b_n B_n| \right] \\ &= \sum_{n=2}^{\infty} \left(\frac{n+\lambda}{1+\lambda} \right)^{k-1} \left[\frac{(n+\lambda)-(1+\lambda)(1-|b|+\alpha|b|)}{(1+\lambda)|b|} |a_n| |A_n| + \frac{(n+\lambda)+(1+\lambda)(1-|b|+\alpha|b|)}{(1+\lambda)|b|} |b_n| |B_n| \right] \\ &\leq \sum_{n=2}^{\infty} \left(\frac{n+\lambda}{1+\lambda} \right)^{k-1} \left[\frac{(n+\lambda)-(1+\lambda)(1-|b|+\alpha|b|)}{(1+\lambda)|b|} \left(\frac{n+1}{2} \right) |a_n| + \right. \\ &\quad \left. \left(\frac{(n+\lambda)+(1+\lambda)(1-|b|+\alpha|b|)}{(1+\lambda)|b|} \right) \left(\frac{n-1}{2} \right) |b_n| \right]; \quad \text{using Lemma 2.1} \\ &\leq \sum_{n=2}^{\infty} \left(\frac{n+\lambda}{1+\lambda} \right)^{k-1} \left[\frac{(n+\lambda)-(1+\lambda)(1-|b|+\alpha|b|)}{(1+\lambda)|b|} \left(\frac{n+\lambda}{1+\lambda} \right) |a_n| + \right. \\ &\quad \left. \left(\frac{(n+\lambda)+(1+\lambda)(1-|b|+\alpha|b|)}{(1+\lambda)|b|} \right) \left(\frac{n+\lambda}{1+\lambda} \right) |b_n| \right] \\ &\leq \sum_{n=2}^{\infty} \left(\frac{n+\lambda}{1+\lambda} \right)^k \left[\left(\frac{(n+\lambda)-(1+\lambda)(1-|b|+\alpha|b|)}{(1+\lambda)|b|} \right) |a_n| + \right. \\ &\quad \left. \left(\frac{(n+\lambda)+(1+\lambda)(1-|b|+\alpha|b|)}{(1+\lambda)|b|} \right) |b_n| \right] \leq (1-\alpha). \end{aligned}$$

Hence, $f * F \in \overline{HS}^0(k-1, \lambda, b, \alpha)$. □

Convex Combinations

Here, we prove that the class $\overline{HS}(k, \lambda, b, \alpha)$ is closed under convex combinations of its members. Let the function $f_{k,i}(z)$ be defined for $i=1,2,\dots$ by

$$(2.4) \quad f_{k,i}(z) = z - \sum_{n=2}^{\infty} |a_{n,i}| z^n + (-1)^k \sum_{n=1}^{\infty} |b_{n,i}| \bar{z}^n.$$

Theorem 2.7. *The class $\overline{HS}(k, \lambda, b, \alpha)$ is closed under convex combinations.*

Proof. For $i = 1, 2, 3, \dots$, let $f_{k,i} \in \overline{HS}(k, \lambda, b, \alpha)$, where $f_{k,i}$ is given by (2.4). Since each $f_{k,i}(z)$ is in $\overline{HS}(k, \lambda, b, \alpha)$ therefore by Theorem 2.2, we obtain

$$\sum_{n=1}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k \left[\left(\frac{(n+\lambda)-(1+\lambda)(1-|b|+\alpha|b|)}{(1+\lambda)|b|} \right) |a_{n,i}| + \left(\frac{(n+\lambda)+(1+\lambda)(1-|b|+\alpha|b|)}{(1+\lambda)|b|} \right) |b_{n,i}| \right] \leq 2(1-\alpha).$$

For $\sum_{i=1}^{\infty} t_i = 1$, $0 \leq t \leq 1$, the convex combinations of $f_{k,i}$ may be written as

$$c_i(z) = \sum_{i=1}^{\infty} t_i f_{k,i}(z) = z - \sum_{n=2}^{\infty} \left(\sum_{i=1}^{\infty} t_i |a_{n,i}| \right) z^n + (-1)^k \sum_{n=1}^{\infty} \left(\sum_{i=1}^{\infty} t_i |b_{n,i}| \right) \bar{z}^n.$$

Now for $c_i(z)$, consider

$$\begin{aligned} & \sum_{n=1}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k \left[\left(\frac{(n+\lambda)-(1+\lambda)(1-|b|+\alpha|b|)}{(1+\lambda)|b|} \right) \left| \sum_{i=1}^{\infty} t_i a_{n,i} \right| + \left(\frac{(n+\lambda)+(1+\lambda)(1-|b|+\alpha|b|)}{(1+\lambda)|b|} \right) \left| \sum_{n=1}^{\infty} t_i b_{n,i} \right| \right] \\ &= \sum_{i=1}^{\infty} t_i \left[\sum_{n=1}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k \left(\frac{(n+\lambda)-(1+\lambda)(1-|b|+\alpha|b|)}{(1+\lambda)|b|} |a_{n,i}| + \frac{(n+\lambda)+(1+\lambda)(1-|b|+\alpha|b|)}{(1+\lambda)|b|} |b_{n,i}| \right) \right] \\ &\leq 2(1-\alpha) \sum_{i=1}^{\infty} t_i = 2(1-\alpha). \end{aligned}$$

Thus, we get $c_i(z) \in \overline{HS}(k, \lambda, b, \alpha)$. □

Covering Theorem

Our next theorem is on the distortion bounds for functions in $\overline{HS}(k, \lambda, b, \alpha)$, which yields a covering result for this family.

Theorem 2.8. *If $f \in \overline{HS}(k, \lambda, b, \alpha)$ and $|z| = r < 1$, then*

$$(2.5) \quad (1 - |b_1|)r - M \leq |f(z)| \leq (1 + |b_1|)r + M$$

where,

$$M = \frac{(1+\lambda)^{k+1}}{(2+\lambda)^k} \left[\frac{(1-\alpha)|b|}{(2+\lambda)-(1+\lambda)(1-|b|+\alpha|b|)} - \frac{(2-|b|+\alpha|b|)}{(2+\lambda)-(1+\lambda)(1-|b|+\alpha|b|)} |b_1| \right] r^2.$$

Proof. First, We shall prove the left hand side of the inequality (2.5). Let $f \in \overline{HS}(k, \lambda, b, \alpha)$, then by using Theorem 2.2, we obtain

$$\begin{aligned}
|f(z)| &\geq (1 - |b_1|)r - \sum_{n=2}^{\infty} (|a_n| + |b_n|)r^n \\
&\geq (1 - |b_1|)r - \sum_{n=2}^{\infty} (|a_n| + |b_n|)r^2 \\
&\geq (1 - |b_1|)r - \frac{(1-\alpha)(1+\lambda)^{k+1}|b|}{((2+\lambda)-(1+\lambda)(1-|b|+\alpha|b|))(2+\lambda)^k} \\
&\quad \times \sum_{n=2}^{\infty} \frac{((2+\lambda)-(1+\lambda)(1-|b|+\alpha|b|))(2+\lambda)^k}{(1-\alpha)(1+\lambda)^{k+1}|b|} (|a_n| + |b_n|)r^2 \\
&\geq (1 - |b_1|)r - \frac{(1-\alpha)(1+\lambda)^{k+1}|b|r^2}{((2+\lambda)-(1+\lambda)(1-|b|+\alpha|b|))(2+\lambda)^k} \\
&\quad \times \sum_{n=2}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k \left(\left(\frac{(n+\lambda)-(1+\lambda)(1-|b|+\alpha|b|)}{(1-\alpha)(1+\lambda)|b|} \right) |a_n| \right. \\
&\quad \left. + \left(\frac{(n+\lambda)+(1+\lambda)(1-|b|+\alpha|b|)}{(1-\alpha)(1+\lambda)|b|} \right) |b_n| \right) \\
&\geq (1 - |b_1|)r - \frac{(1-\alpha)(1+\lambda)^{k+1}|b|r^2}{((2+\lambda)-(1+\lambda)(1-|b|+\alpha|b|))(2+\lambda)^k} \times \left(1 - \frac{(2-|b|+\alpha|b|)}{(1-\alpha)|b|} |b_1| \right) \\
&= (1 - |b_1|)r - M.
\end{aligned}$$

Following on the similar arguments we can easily prove the right hand side of the inequality (2.5). Hence proof of the theorem is complete. $\square$

Radius of Convexity

Theorem 2.9. *If $f_k \in \overline{HS}(k, \lambda, b, \alpha)$ then f_k is convex in the disk*

$$|z| \leq \min_{q \in \mathbb{N}} \left(\frac{(1-\alpha)|b|(1-|b_1|)}{q((1-\alpha)|b| - (2-|b|+\alpha|b|)|b_1|)} \right)^{1/(q-1)}.$$

Proof. Let $f_k \in \overline{HS}(k, \lambda, b, \alpha)$ and let r , $0 < r < 1$ be fixed. Then $r^{-1}f_k(rz) \in \overline{HS}(k, \lambda, b, \alpha)$ and we get,

$$\begin{aligned}
\sum_{n=2}^{\infty} n^2 (|a_n| + |b_n|) r^{n-1} &= \sum_{n=2}^{\infty} n (|a_n| + |b_n|) n r^{n-1} \\
&\leq \sum_{n=2}^{\infty} \left(\frac{n+\lambda}{1+\lambda}\right)^k \left(\left(\frac{(n+\lambda)-(1+\lambda)(1-|b|+\alpha|b|)}{(1-\alpha)(1+\lambda)|b|} \right) |a_n| \right. \\
&\quad \left. + \left(\frac{(n+\lambda)+(1+\lambda)(1-|b|+\alpha|b|)}{(1-\alpha)(1+\lambda)|b|} \right) |b_n| \right) n r^{n-1} \leq 1 - |b_1|,
\end{aligned}$$

provided, $n r^{n-1} \leq \frac{(1-|b_1|)}{1 - \frac{(2-|b|+\alpha|b|)}{(1-\alpha)|b|} |b_1|}$, or

$$r \leq \min_{q \in \mathbb{N}} \left(\frac{(1-\alpha)|b|(1-|b_1|)}{q((1-\alpha)|b| - (2-|b|+\alpha|b|)|b_1|)} \right)^{1/(q-1)}.$$

□

Bernardi-Libera-Livingston Integral of $\overline{HS}(k, \lambda, b, \alpha)$

In this last section, we study the closure property of the class $\overline{HS}(k, \lambda, b, \alpha)$ under the generalized Bernardi-Libera-Livingston integral operator $\mathfrak{L}_c$. For an analytic function f its generalized Bernardi-Libera-Livingston integral operator is defined as,

$$\mathfrak{L}_c[f(z)] = \frac{c+1}{z^c} \int_0^z \xi^{c-1} f(\xi) d\xi, \quad (c > -1),$$

whereas for harmonic functions $f = h + \bar{g}$ it is defined as,

$$\mathfrak{L}_c[f(z)] = \frac{c+1}{z^c} \int_0^z \xi^{c-1} h(\xi) d\xi + \overline{\frac{c+1}{z^c} \int_0^z \xi^{c-1} g(\xi) d\xi}, \quad (c > -1).$$

Theorem 2.10. *If $f_k \in \overline{HS}(k, \lambda, b, \alpha)$, then $\mathfrak{L}_c[f_k(z)] \in \overline{HS}(k, \lambda, b, \alpha)$.*

Proof. Let $f_k = h + \bar{g}_k \in \overline{HS}(k, \lambda, b, \alpha)$. Then,

$$\begin{aligned} \mathfrak{L}_c[f(z)] &= \frac{c+1}{z^c} \int_0^z \xi^{c-1} h(\xi) d\xi + \overline{\frac{c+1}{z^c} \int_0^z \xi^{c-1} g_k(\xi) d\xi} \\ &= \frac{c+1}{z^c} \int_0^z \xi^{c-1} (\xi - \sum_{n=2}^{\infty} |a_n| \xi^n) d\xi + \\ &\quad \overline{\frac{c+1}{z^c} \int_0^z \xi^{c-1} \left((-1)^k \sum_{n=1}^{\infty} |b_n| \xi^n \right) d\xi} \\ &= z - \sum_{n=2}^{\infty} |A_n| z^n + (-1)^k \sum_{n=1}^{\infty} |B_n| \bar{z}^n, \end{aligned}$$

where

$$|A_n| = \left(\frac{c+1}{c+n} \right) |a_n| \quad \text{and} \quad |B_n| = \left(\frac{c+1}{c+n} \right) |b_n|.$$

Hence

$$\begin{aligned} &\sum_{n=1}^{\infty} \left(\frac{n+\lambda}{1+\lambda} \right)^k \left[\left(\frac{(n+\lambda)-(1+\lambda)(1-|b|+\alpha|b|)}{(1+\lambda)|b|} \right) |A_n| + \left(\frac{(n+\lambda)+(1+\lambda)(1-|b|+\alpha|b|)}{(1+\lambda)|b|} \right) |B_n| \right] \\ &= \sum_{n=1}^{\infty} \left[\left(\frac{n+\lambda}{1+\lambda} \right)^k \left(\frac{(n+\lambda)-(1+\lambda)(1-|b|+\alpha|b|)}{(1+\lambda)|b|} \right) \left(\frac{c+1}{c+n} \right) |a_n| + \right. \\ &\quad \left. \left(\frac{(n+\lambda)+(1+\lambda)(1-|b|+\alpha|b|)}{(1+\lambda)|b|} \right) \left(\frac{c+1}{c+n} \right) |b_n| \right] \\ &\leq \sum_{n=1}^{\infty} \left[\left(\frac{n+\lambda}{1+\lambda} \right)^k \left(\frac{(n+\lambda)-(1+\lambda)(1-|b|+\alpha|b|)}{(1+\lambda)|b|} \right) |a_n| + \left(\frac{(n+\lambda)+(1+\lambda)(1-|b|+\alpha|b|)}{(1+\lambda)|b|} \right) |b_n| \right] \\ &\leq 2(1-\alpha). \end{aligned}$$

Thus $\mathfrak{L}_c[f_k(z)] \in \overline{HS}(k, \lambda, b, \alpha)$. □

REFERENCES

- [1] N.E CHO, T.H KIM: *Multiplier transformation and strongly close-to-convex functions*, Bull. Korean Math. Soc., **40** (2003), 399–410.
- [2] J. CLUNIE, T. SHEIL-SMALL: *Harmonic univalent functions*, Ann. Acad. Sci. Fenn. Ser. A I Math., **9** (1984), 3–25.
- [3] S. A. HALIM, A. JANTENG: *Harmonic functions starlike of complex order*, Proc. of Int. Symposium on New Development of Geometric Function Theory and Its Appl., (2008), 132-140.
- [4] H. LEWY: *On the non-vanishing of the Jacobian in certain one-to-one mappings*, Bull. Amer. Math. Soc., **42**(10) (1936), 689–692.
- [5] J.M JAHANGIRI, G. MURUGUSUNDARAMOORTHY, K. VIJAYA: *Salagean type harmonic functions*, South J. Pure Appl. Math., **2** (2002), 77–82.
- [6] R. KUMAR, S. GUPTA, S. SINGH : *A class of univalent harmonic functions defined by multiplier transformation*, Rev. Roumaine Math. Pures Appl., **57**(1) (2012), 371–382.
- [7] M.A. NASR, M.K. AOUF : *Starlike functions of complex order*, J. Natural Sci. Math., **25** (1985), 1-12.
- [8] T. ROSY, B.A STEPHEN, K.G. SUBRAMANIAN: *Goodman-Ronning type harmonic univalent functions*, Kyungpook Math. J., **41** (2001), 45–54.
- [9] H. SILVERMAN: *Univalent functions with negative coefficients*, Proc. Amer. Math. Soc, **51** (1975), 109–116.
- [10] H. SILVERMAN: *Harmonic univalent functions with negative coefficients*, J. Math. Anal. Appl., **220** (1998), 283–289.
- [11] G.S. SALAGEAN: *Subclasses of univalent functions*, Lecture Notes in Math., Springer - Verlag, Heidelberg, **1013** (1983), 362–372.
- [12] S. OWA, G.S SALAGEAN: *On an open problem of S. Owa*, J. Math. Anal. Appl., **218** (1998), 453–457.
- [13] S. OWA, G.S SALAGEAN: *Starlike or convex of complex order functions with negative coefficients*, RIMS Kokyuroku, **1062** (1998), 77–83.
- [14] E. YAŞAR, S. YALÇIN: *Harmonic univalent functions starlike or convex of complex order*, Tamsui Oxford Journal of Information and Mathematical Sciences, **27**(3) (2011), 269–277.

DEPARTMENT OF MATHEMATICS
HANS RAJ MAHILA MAHA VIDYALA
JALANDHAR-144001, PUNJAB, INDIA
E-mail address: deepali.02.08.88@gmail.com

DEPARTMENT OF MATHEMATICS
DAV UNIVERSITY
JALANDHAR-144012, PUNJAB, INDIA
E-mail address: rajgarg2012@yahoo.co.in

DEPARTMENT OF MATHEMATICS
BURSA ULUDAG UNIVERSITY
GÖRÜKLE-16059, BURSA, TURKEY
E-mail address: syalcin@uludag.edu.tr